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Answer the Questions from any one Option.
OPTION-A
Paper : BOT-RE-5016
( Cell and Molecular Biology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7

TS HTIRE O ol 3

(a) Who invented electron microscope ?

(I ARG SRATE T SNRER e 2
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Answer the Questions from any one Option.
OPTION-A
Paper : BOT-RE-5016
( Cell and Molecular Biology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7

TS RPTRE Be ol 8

(@) Who invented electron microscope ?
@I BEEd SArE T SRER PR
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(b)

()

(d)

(e)

(9)

What is stem ?

Stem & ¢

Write the name of a stain used in

fluorescence microscopy.

AN SR TS R @[T Bt (B
5 o

Name the subunits of 70S ribosome.

70S TG ToiratBI Tim B |

What is leucoplast ?

o) o o

Who coined the term ‘mitochondrig’ ?

LG HBA B (I NP9 R o

What is the function of the enzyme
DNA ligase ?

ﬁem«ﬂ?rﬁ“cmawﬁmm%?
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2. Answer the following questions briefly :
2x4=8
wore At e 5 Tew forl 8

(@) What is the significance of mitosis ?

e (@ Romr o9y [ 1

(p) What is the function of plasma
membrane ?

raRIR o & ¢

() What is oxysome ?
RS & 2

(d) What are euchromatin and
heterochromatin ?

S A Sl (BT oA 2

3. Answer any three of the following
questions :

wots fanl At fofsT e Tes i e

5x3=15

(a) Describe the structure of t-RNA.
t-RNA F ofowa 3 |
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2. Answer the following questions briefly :
2x4=8
weTe fral eTres oY Tl forl 8

(@) What is the significance of mitosis ?

s @IT Reoer o399 [ 2

(b)) What is the function of plasma
membrane ?

@R I & 2

(¢ What is oxysome ?

oREre & 2

(d) What are euchromatin and
heterochromatin ?

SO S (DT oA 2

3. Answer any three of the following
questions :

weTe ol R fofanr e Tes feran s

5x3=15

(a) Describe the structure of t-RNA.
t-RNA F 5579 3¢ 01
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(b) Describe different types of DNA.
fRfen e R Raw 3 e

(c) What is the difference between rough
endoplasmic reticulum and smooth
endoplasmic reticulum ?

wﬁmﬁﬁamﬁmmaﬁqmmﬁ‘m
wifererR ey & 2

(d) Write in brief about non-genetic RNA.

G- R, @7 @3 R v et

() What is lac operon ?

@& SR 2

4. Answer the following questions :
10x3=30
weTe il ehvTyR Tl foall ¢

(a) Draw and describe the structure and
functions of mitochondria.

o ==t
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(b) Describe different types of DNA.
Rfen evig Buras REw 3 =10

() What is the difference between rough
endoplasmic reticulum and smooth
endoplasmic reticulum ?

mqwmﬁaw%wmaﬁqu
GifeieIR iRy & [ 2

(d) Write in brief about non-genetic RNA.

TR . . 3 R vt et

(e) What is lac operon ?

F TR &F 2

4. Answer the following questions :
10x3=30
wore WAl ePTRR e B

(a) Draw and describe the structure ang
functions of mitochondria.

91 3|
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Oor /<3l

Draw and describe the structure and
functions of chloroplast.

2R o7 TI% PR TR foa 7R I
41|

(b) Describe with diagram the replication
of DNA in eukaryotes.

Bz T SRR R SR Al
=l 2
Or /a4t

Describe the process of transcription
in protein synthesis.

oPfSe T (Gfer=Ioe elfErRICe! el T2

() Describe the ultrastructure and
functions of plasma membrane.

— Chc e e RG]

or/a%<l

Explain the process of regulation of
gene expression in prokaryotes.

mﬂm@amﬁmsﬁawﬁmcﬁ
Faem [y ARG
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OPTION-B
Paper : BOT-RE-5026
( Economic Botany and Biotechnology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer the following questions / Fill in the
blanks : 1x7=7

©oT ePPTTRE ©e] Tl / Ul o1 SR 3 e
(@) Who first coined the term
‘bioinformatics’ ?

IR TR *AO! KA (A IS
A ?

(b) The essential oil which contains
‘eugenol’ is obtained from

W W R SRR
(SETRY SRS T4 2 |
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OPTION-B
Paper : BOT-RE-5026
( Economic Botany and Biotechnology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions / Fill in the
blanks : 1x7=7

OO TR ©ER frml /A IR SR 3 ¢
(a) Who first coined the term

‘bioinformatics’ ?

QX TR A0 KA (R I
FE ¢

(b) The essential oil which contains
‘eugenol’ is obtained from

(SeaY SRt I 2 |
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(c) What is epitope ?
af35 B 2

(d) Storage tissue of leguminous seed is
known as

TEETe T e FETFARL T

(e) The alkaloid found in black pepper is

e

oG] (Aral G T —— |

() What is myeloma cell ?
wieers @ & 2

() Write the botanical name of
groundnut.

W%@ﬁ@mmﬁmn

9. Answer the following questions : 2x4=8

o TR el ferdl 8

(a) Write a short note on origin of wheat.

cﬁ"@%&vfﬁcﬁiﬁﬂtﬂaﬁwcﬁm GEIR

, gen-5 |CBCS) BOT RE 1236 7 Contd.
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(b) What are androgenic haploids ? Who
obtained androgenic haploid for the
first time ?

I TERT (RATCER B ? (I AT IE
OGNS (2T ST SR 2

(c) Mention the part used and uses of
cotton.

T Y o W% IR B 7 |

(d) What is proteome ? Mention the main
branches of proteomics.

oo & ¢ afbafiem gum waiwE S
|

3. Answer any three of the following
questions : ox3=15

O WTTI “A91 et fofinra Ser gt o

(a) Write short notes on :

59 (GBIt fovall
i RAPD

(i) PCR
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(b) What are food adjuncts ? State the
characteristic features of spice.

g g Bfew [ ¢ Tmie ik
@RBPTR e

() What is the centre of origin of crop
plants ? Write on different centres of
origin of crop plants as proposed by
Vavilov.

77 Sfe Tedfer rwgE I & 3w o
cifeeite RGN T Tfer  Besifer

FHEE-e R

(d) What is molecular DNA marker ?
Mention the significance of molecular

marker.

iifds DNA 52 3t 6= & 2 =9k =
SR SEd 411

(e) State the advantages and
disadvantages of micropropagation.

T oG TR R SRR o
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4. Answer any three of the following
questions : 10x3=30

©o TR W i fofbi Tew o
(a) Give the botanical names,
morphological nature of plant part

yielding economic products and uses
of the following : (Any two)

TS AR Sfen Reers w1, sdtafes
T oIl B wieiy weopiciG ol
IR R R TR : 3 (R gh)
(i) Wheat

&=
(i) Clove

R
(iii) Soybean
SARA

(b) Discuss different branches of
bioinformatics.

@a@mﬁwmm’iﬂmmﬁmﬁ%ww
A 3541 |
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(c) Discuss the morphology, processing
and uses of tea.

B SRePIcE, Tedie afr ok IR/
R SIceeAl 31|

(d) What is monoclonal antibody ?
Discuss the hybridoma technology
used in monoclonal antibodies

production.

e <5 R 2 W afefS
TesimTe FIRE AYfGT JIYT ST
41|

(e) Write notes on :
ol foral ¢
() DNA fingerprinting -
DNA fratmafafir
(i) Significance of embryo culture

TR ¢IG

() Discuss the scope and application of
modern biotechnology.

S (eRegfERIR R SR CRRTR
Ao 10

e————
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(c) Discuss the morphology, processing
and uses of tea.

BT SRAPIEN, Bl effer SR IR
R S 1

(d) What is monoclonal antibody ?
Discuss the hybridoma technology
used in monoclonal antibodies

production.

TEEE G5 B 2 WEEa afofe
Teoie RN e AT AELAI
|

(e) Write notes on :

(ot Tt ¢

(i DNA fingerprinting N
DNA fraiafafos

(ii) Significance of embryo culture
TR O3

() Discuss the scope and application of
modern biotechnology.

iy (eRefERmR AR O AT
gl 4 |

——————
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OPTION-C
Paper : BOT-RE- 5036

( Genetics and Plant Breeding)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7
OoR AT Tl g

(a) Genotype of a dominant plant can be
determined by a test cross. Is it true ?

I A eI eI i o Bizst
e sRa i | AT o

(b) Name the phenomenon that takes
place due to lack of independent
assortment of two genes.

Wi fome wog adfiesd oRim Aafe @i
SHRESAGR a1 B |

(c) In which stage does crossing over take
place ?

Tm Rfvw @mest was wfhe w3 2
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(d) When does reciprocal translocation
occur ?

ATHRT FAEI @hon wafoe =2

() What is an individual with an extra set
of chromosomes called ?

wfelRe ey (it I = IfEReTe &
I @R[ 2

() Which parent contributes the most
amount of cytoplasm to the zygote in
case of cytoplasmic inheritance ?

@RAPIE I elfFs  fPrg-ags
@NBIR TS e sfRuem (@iEe aW
PE?

(g) Define acclimatization.

“fifRRoT SR kel faal |

2. Answer the following : 2x4=8
TR 2AIRIRT Ted a3

(a) What are the limitations of the law of
segregation ?

AP NoT Mmel & 2
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(b) If the percentage of crossing over
between two genes is 10 then what will
be the distance between two genes in
centimorgan ?

woi &R IeR fom R 71 10 *oie g
centimorgan ¢3F® WAL & el =@
e 2

(c). What is heterosis ?
Heterosis & ¢

(d) What do you understand by
aneuploidy ? Give example.

Aneuploidy 3fieT & @t 2 Swime T )

3. Write briefly on any three of the
following : Sx3=15

OO AINE 5 Te T ¢ (Rizsaion fofny)
(a) Polygenic inheritance
=S I

(b) Asexual reproduction in crop plants

IR *PIR ST 2T
(c) Definition of euploidy
Euploidy-¥

(d) Significance of crossing over

& RfRwTs wresl
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(e) Domestication of crop plants

IR PR Jiferessd

4. Answer the following : 10x3=30

OoY YNRIRT U Wl ¢

(a) Distinguish between complete and
incomplete linkage. With the help of
example discuss the phenomenon of
linkage. 3+7=10
ool wR Sprd el etew fovat
iz TR Al [REAC! s 74|

Or/g<<)

Discuss the role of polyploidy in crop
improvement. 10

PR R[S polyploidy 3t IRaTOR
il Sicesal 4 |

(b) What do you understand by
cytoplasmic inheritance ? Describe in
detail plastid inheritance in Mirabilis
Jjalapa. ' 3+7=10
@A I 3fee 6 @ e Mirabilis
jalapa © W1 2T IeNFEIR AR I
|
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Or /Y

What can cause a mutation in a gene ?
Explain different types of chemical
mutagens. 3+7=10

o TesiRed iz AR @ 2 IS
TeARASTTIST TIPS KA At ieieprei |

(c) Differentiate between autosomes and
sex chromosomes. Discuss the process
of sex determination with the help of
suitable examples. 3+7=10

Autosomes W% (TN TN orew WfT
™| TS TR TREE (el el
- ifEFal SITEInA 4|

Or /%<t

State the manifestations of heterosis
and explain its applications in plant

breeding. S5+5=10
Heterosis ¥ 3fgeiR R fodl oie Sfens
T aoeTe 3R Al T 1 |
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